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Print control
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Notify User when done: N
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;PTIPBLY (DISCSUBRS GROUP 5) FOR IRIS R9. xx

; "DBURDEFSY FOR IRIB
CEND



ASM 1£/4. TIFDE1 ¥29i!, @18/L. TIPDEL. 9291, BOS0, ~BO51, BO5Z
FER 7, 1990 11 3957

Batchfiie: RYSJCL. TIFDEI
; ;oA = P91

~RYSDEFGPZ
~R95DSUBDEFSD
RP2TIPDSBE1SA

CEOT 5 "TIFB1" (DISCSUBS GROUP 5) FOR IRIS R9. xx



< BI = RYZTIPDSBBIGSA; BO = 18/4. TIPDB1. 9291 &
4 REVIG:= 4 i the revision number
Call Bi, A 0% 0. DL E
A= mode -~ 2 - Teturn revision number
meide i single character search
searches for first char of B$ in C$
mopde — 2 - search for string Bf within C4%
mage - 3 - search for next word _in C%, gqsition and length
returned in D and E respectively, words are
two or more upper case alpha numeric chracters
made ~ 5 - zearch for B$ in C$, starting at begining, the
routine assumes thet both B$ and (% are terminated
with zero-word and that both strings and even the
section to be found are alligned on word boundaries.
e target — string to be found, mode 1 only 1st char used
mode 2 entire match required
Ce=  dest. = stvring to be searched
D= result — mode £ <= rTewvision number
1. D<= first occurance of B$[1,1] in C$
&2 D<= first occurance of B$ in (% after
start position o .
3 .= begining of next word, O if none found
9: D<= begining of B$ in C$ if present
Fm length of word, mode 3 only. O if no word found
} 1 CTETHM |
i02400 .LOC LTPOL
10400 160 DEBL160: 1IP0I
102401 H START-DEB 160
102402 177425 DEB1&0-DSBEND
G315 BTART S5TA 3, RET i the return address
51y STA 2, APT ipointer to the arguments
437 JSR PICK igo and get the value of the switch
41 JESR LSEND icheck size of switch and branch
. ipointers to the various internal routines
7 445 LETRT: VO-LSTRT iversion of this discsub
3 &0 Vi-LSTRT isingle character search
i 131 Ve—-LL8TRT istring search
& 131 V3-LSTRT ;ispelling dictionary mode
5 14 EX-LSTRT
4 13 NME-LSTRT sword search mode
o L4 EX-LSTRT
& i EX-LSTRT
i7 1 FX-LSTRT




A

-

L SEND-LSTRT
00000

5TA O, BWTCH istore switch for reference

gggzolil i should not be less than

JMP @RET ;it is so do an error return

LDA 1. 8I1ZE ; the valid maximum switch

GLE O, 1 ;it should be less than equal
JHMPEGRET iits not so do an errar return

MOV 3,2 i A3 has the address of LSTART )
ADD 0,3 iit now has the address of the pointer
LD& 3.0.3 i 1oad the pointer value

ADD 3, 2 ;add the pointer to address of LSTART
JMP 0, 2 ; gump to this, the real address

; the number of routines here

0 RETS: iused for subroutine RTN addresses
4 RpUM: REVIS ithe revision number
O SBWTCOH: O ; temporary storage of A
eturns the value of the switch in AOssi 5555533535533
PIOKN: DA 2, APT
L.DA 1.C2
ADD 1,2

LTA 2, APT

value of the next parameter in AQiiiiiiiii
parameters table entry

8TA 3. RETS istore the return address
LDas 1,1.2 inumber type of the parameter
1 LDA &, 0.2 ;address of the parameter
4 SUBZL 0,0 imake a one as a so DECIMAL 1loads
4 DEC IMAL iDA gets the parameter
4% FIix iAl gets the value of the DA
45 JMP@RET i fix had an error so return
4 MOV 1,0 iput the parameter value in
45 JPP BRETS iTeturn
disceub in second parameter
5 1, RNUM iTevision number
Z 0.0 isign of number is +ve
AT iconvert to a decimal
A 2 APT i the pointer to the arguments
LDS 1, 7,2 ;inumber type of D
LDA 2, 6,2 ;address of
suRz 0,0 itells Decimal to do a store
DECIMaAL istore the Revision in B
LDA 3, RET i the return address
M 1, 3 ido a skip return

;0

1,0

urance
e T

1. G377

of BHli, 13 in C% piddiiiiaiiaii
i the argument pointers
i A3 gets the address of B¢ »
i AD gets the first two bytes of B$
imove first byte to lsbits
ito mask out the least sig character
i AD now contains B$l1,1]



o
N
e
TrURZVW~ZOG
Q\- - DM n?

COM -~

5TA 3. RTNZ
MOV 1, 3
MOVZR 3, 3
ADD 2, 3
LDA 0,0,3
SKO 1, 1
MOVS 0, 0

I DA 3. Ca77
AND 3, O
MR BRTNZ

V) VA
S PUTD

5TA 3. BADR
DA 3, 3,2
MOVL 3,3
MOMZR 3,13
STA 3, BSIE
LDS 3,4, 2
ST 3. CaALDR
LA 3,05, 2
FOVL 3.3
MOWZER 3,3
ST 4 QBIE

L0 1, Ch
ADD 1,2

he first character of B$

he dimension and type of C$
hift out the Msb

iremove the type bit

tore as the size of C$

2 gets the address of C¢$

iAl 1s the counter in string C$
;get the character in A2+Al into AO
skip if not end of string

not found .
increment the substring count
the size of

skip if not last character
inot found

iBsL1, 117

;skip if we have found a match
itry again

;jwe have found the character

.~

pgU N BT 2 4

- -

-~

~

e e e e

iused for storing the pointer to arguments

;stores the return address

;i the dimension of C$
;i the first character of B$

inote the return address
ithe byte pointer

iconvert to a word pointer
;A3 now points at the bytes
iget them

idon’t swap on even

i swap since odd

i the byte mask

imask out the wrong byte
ireturn

imake a zero
iput the result and return

imode 5 uses same input parameters
imodes two and three share much code
istring search propper

address of B$

store for future reference

the dimension and type of B%$

shift out the msb

hift back without the bit

LT o N vy

Dot crororord okt

PR

h
h
e
e size and tgpe
he address only

he type bit is removed
he si1ze of C#

he

2

address of D
now gets the address for D

- .



JEi PIOK

52T 0, PO

LD 1. SWTOH
D& O, Ca
GEQ O, 1

SR MODE 3
SUNZ 1,1
D& 2. BADR
JBR GET

5N O, 0

Jeli FNDA
ST 0. B

I DA 2. B
SLE 1,8
JHE END
L DA 2, CADDR

e

=
2, CA
LOA 3, POS
STé 1, 6001
SDDRZ 3,1
JER BGET
L DA 1. ACC)
Gz 0.0
NP NOTF

DA 1, POS
1.1
S BPUTD

O
O
)
x: )
(8]

i

PV 2L
Sk 1
JEROM
D 2
IR OY. S W

;get the original value of D for POS
nothing found

~

what was the mode switch on entry

was it &

TEE? was the mode 2

NQ, therefore assume mode 3

since no match set string counter to O
the address of B$

get the character

skip if not end of B¥ and match found yet
we have found a match

store the character we have just got
the dimensioned size of B$

Sklﬁ if this is not reached

we have hit the end of B$, so match
the address of C$ ) .

the position we are investigating

make a note of Al

increment 1 so that we take into account POS
get the character from C%

restore the accumulator

skip if not at end of C%

we are at the end of C$

restore the value for B%

skip if they match

the match failed .

increment the substring counter

check the next characters

M e M e s e W e W tee e fee Mo fme Mo e s Nee e e Me fmr e fwe Me ws

look at the next position
we are going to check it
the size of C$

continue 1f it fits

not fount

restart the index counter

e e e s e e

pos is the position where we matched
no displacement is called 1 etc
put this value and return

~ .

-

where we find the value

the size of B$

the address of B$

the addr of C%

temporary storage of char from C%$
temporary storage of Al

L S

i AD contained 2 now contains 4 .

3?7 Al contains the switch, are we in MODES. 4
i NGO, therefore it is MODE 5

iwe are going to find the value of LENW

; the argument displacement

i A2 contained the address for the 4th parameter
iwe increment this to Eoint at LENW

;geg tb: value of the LENW parameter

inote i

ias passed by the caller, or by us if we



O, LER
1.0

1, C87E
0,1

Hy Oong
O, 5CAN
y O, POS

e 0.0

SBTA O, LEMNW

) 2, CADDR
SO AN

0He

Zﬁ - mu -~
e )
x
2 3
A
he

-y Y

R N
Y NDWD
P57 SCAN
P07 LE N
JME L GOR T
LA b, LEMNW
LA i Co
SeE L2
JME GHORT

GURTY 0,0

ILOAY
L.DA 20 aPT
DA 1L 11,

HEEER

LA 2,10,
SUNZT O, 0
DECIMAL
SMEFNDE

LD 2
Gk 2
MR
sDO
- i

SRR ITNG

SUHE 0.0
STA O, LENW
LDA O, BCAN
} N(I '::.).‘ 'D
STA O, POS
S ACHIN

- -

- -

e M e W fwe e e wr e ety e L VP I S

- tmr e e

e s Ml e e e Sl Ser e

D P P T T

-t Ml tme e e

H
i

are skipping short words .
the specified lenght of previocus word
move pointer to next word

the dimensioned size of C$

TEPT are we within the line still

NO, set everything to O for not found
YES, set up the scan position as start of
this newly found word

this is also the begining of the word

the words length is currently zero

save this wvalue

the address of the second parameter
character number to scan

et the SCANth character from C%

he character

?E?T is the specified character greter then A

NG, therefore we have found the end of word
the greatest legal character

???? character 3="A" and {="2"

NO, its greater than Z, so end of word
ready for the next character

one more character has been found in the word

chack the next character

see how big the word is

words less than 2 don‘t count

TE?? is lenght greter than or equal to 2
NO, the word is to short

required by FLOAT

place LENW in DA

the arguement pointer

the number type of LENW

the address of LENW

the store DA parameter

store the DA in LENW

place incremented POS in D as we have
already stored LENW

chack that we have not hit end of line

T is the character a control character
NO, so try again .

%eneratg -1 for incrementing to zero

he position of the start of this word
generate a _zero as not found generates

zero for LENW as well as POS

restore these values for return

try for another word as this was too short
reset length to

start at last investigated character

step beyond it

this is start of the word

try whole thing again

jwe are startin%.so position=0
i

reset the position



i the address of B, A2 will be used as pointer

Lo 2

L DA O ; the address of C$%, A3 will be used as pointer

Los D i 40 gets next word from Bs$

LMY O ;P77 is it the terminator

AMEC T ; YES, therefore we have a match

R AT S NG, so get next word from C$

Gz 31 ;7?7?77 is it the end )

JMPOMOTF ; YES, therefore there is no match

SEQ 0,1 i 77 is the C$ and B$ words equal

JMEOFAILS i NG, so start at the next position

Iﬂ& pe% i YES, so step both strings

I 3L

SR LO0ORS s;check the next pair

L0 L, P05 jwe have hit end of B$ so we have a match,
iwe must convert POS to a pointer and return

MOvVEL., 1.1 iconvert to a byte pointer

i FRDS ;ireturn this value
jwe failed this section, move up dand try again

IRV istep in C$

JEP YBRPT irepeat the procedure

301 ; the character "A"

B i the character "ZI"

O ;the current character to investigate

LR ;lenght of previous word

CERRE DHER16H0+400C ; OVERFLOW CHECK

D
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Line WO ZY

Frinted an/at
For Greup/User
O Fort bo

tupe
HEN L

o whern
opticnal

done:
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» ™
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